Sketeh of  soluktons
il £L> Zc'gpumluu | AE Ded
i*amwohw u{'m
[ -h-2¢ |-€]] [« ' [07
- |-2¢ \J{ L ) Ld\‘
s o
i 1112{—
Soly:
e Aol (et
=| T || - Seod (24) - Scin (2€)
cos(24) -2 sin (24)+ C(sivt(a\-f 2 cos (2—(\) g
Tare biwiagicony parks:  sots
o[- & | -Sees (4 ]
i L cos () 2ziy (2¢ /
J63) =l 1S [stuczd) ]
E )_ siv (2¢] + 2eos (24)
Loge  Unsay i W rouskiow
el o L ] e i e b
cos(24) -25iv (24) Sl (24) « 2eos(24)




()

M - Seosxfiate - 10 cos (24)

+S Sl‘m/(}f;én (z-('\ - O sfuqfl +)

: _(Ve :(tEO » Ly . vdep.
b |4 [ ol foukes)
icqmv ), A -2 A= S
d AL
2 vec bors
|
b bz, lvi= '
= ['GJ
doy SEns Ve ok r‘?
‘ P ]
t -2+ ( S¢ AI
sl u: X : |c 2 [ 7 tC, C /
- [7el) S
-Xo):[‘z‘ =) C ot =|2 ,.Yc, :3?
& Z-é;c' +C,z - ZC _:_;‘.
3 R O
2 4\ e £ =€
= 7 ¢ F &

L2 | — |7 q 1] [9 |
h e e I’
3| 3 S SRR

\}

"0




(1)
o >
T ®
—— = s M W
(¢ Rod) \)
© 0 2 > 9) = AN o 3
© — 3 £0Il\ \ QUJ
" ar - R J
S ey O Ny - Yy
r\l)w ﬁ + Y lm
P o 1 PV
ik _ 2T W o O ST
J ™~ oy N N\ She T :
. = A = S
S ALY g8 [0
pate S 2 v W A =
(o} " N {
' s o= & < < — < SRS
\ v ; \ \ [~ S~—r
d e ~ = e R
T o © B ) ! ] X " W\
\ . ] N _J at f\_. -
A e e C \ * S Fe Y1 o
)
> 3
=l L ..M <
- ES T M
0 i 5
A

-L4>b k

S !z/(_.“l'n




/ \
X = r“” -—ZS: + ¢ Cu{ '?5 h B l-_‘:j\
= | \L > | LX\/ \
SHCa tu/‘?;—l.]iz*' (‘[ L : \\
St =1 P e
(\ | © ) ? 3 )

o) [FCe,0) = |6(00) 20 ¢, (o0} is| crid.

b\ ’ Zm[ olbow :

- |y Rl (g}_”\ oy q
J =«
(efe ? | deed |
( 0 .l =)
2308 | = | JI , i‘;%,wwm,bm =

ondin | 18| ol stable |center.

Wz

MThe CF (9,0) ALW e nou* 4

| “
P Eiiet sirlbll eMmitr ) o spirq,ﬂ ovr
C 9p|'r"J_ S(V\l’:
Al e
= PEeet ,S i
dx u HJAA- ~xdx
Jd U J
=) .luz e 2 -(C
[AY, 2
% XL-(-u(‘: =12C

oY%




S Hu W‘X'v\ (S A comdenr %o\r +["~€-
wo u - Lanlow 98.;](444 ey we/L(

5. Uow ofa: (4-2)(~1-)) -£: 0O
= S ra o
2 )w%(Ki\[,‘zs’ tYe
Uuslmlole wode e,u&)m\alowo mwt  be | boH
rtad 4 pos(41ve (deshuct

or Weqk;é\) So we want
L. US +4s PO | e2- -i-f‘:
o W =%
= S+t £ 99
» |se2-14.
So 8¢ < -4

6 o) Predekion : X i Yt predador

é is 4he qt‘ﬂ%
b) | Want X/S > ©
qx_xqij = @ @
13— A(Xj o @

-

@"5 ‘3-‘—00'( b

(£ 4>0 Hhaa Fnx'=05 x=0 or x=3



l? X1 3 Hem @:) ?—2;-f3= )

4 |
= _?-(-— <D
4
LS not+ relevant .
So (0)03 ) (?’,O) < Hre owl:H redo vomit

oweA,

¢). The populabon of e prty  evemhally
vomishest  omd  Hee predeidovs  approech
x=/ .

7‘. Cet Slx'. T heu:

&=
X’_-lj
3 = _4Y +§x3__x5‘

ZﬂLth 0 fl'md C?

4= 0 ©
- 4% ~f§x3~><$':D @

b
U448 AxT0 » xS« 4=p
5 | xX= %(5:3)—) )i":lf or
x )
S x = 3 , KE 4 2.
O Gt (o,b))(:ez,o)) (#1,0). For each
(YC*‘),;SG\’)) = (;cb,ﬂ,) (s oun  equit. coln.



Vo | .{Lov couwluqk et
00
-8t at [ :
\Z ¢ A'k = — S 2& ( <
U S-ot )
0
. ( -4 \ (
So ) St = 3 [Sett -4 Lt = s = -
L O A R P S 2 S~ 2
it Gl s
) =
fo- S|
—(a.\o.‘m?) lv rlac{u
e XY -l = 2Xg) + Y(s)
SY(S) #7 = 6 XG5) +3 Vis)
]
5§ Xes)= .
7\ Mg ke
¢
i y) = -
kU
lo F-UM $2J[V\ O‘E "l‘(ﬁﬂs Cown h 4%9%0[(‘ % r
\/lg do 1 on clretivp o,F cal, B ey ovs, CC.K-
https://www.math.purdue.edu/~neptamin/303Au2 | /Handouts/High_ defect.pdf
"o s
b\ du.dc 'R'-‘Jc A (0] i 0
o}
L | 9
5




?mocoh does not

T
o |qo G .
rllll ,l\
S
[N} sw o
O 3 Ry
J — o 9
.[w |+ L)
® 5
4 olo10 o
S,
O 5 — 10 7 0 o S~
—x —
e N o )
0 - %
s O Q
S DA ..u,
;<
flc M O ot
. L
3 T ~u
0 w
n W 32




